ERESTNR, Bah
Problem

279. Perfect Squares(Medium)

Given a positive integer n, find the least number of perfect square numbers (for example, 1, 4, 9, 16,
...) which sum to n.

Example 1:

Input: n = 12
Output: 3

Explanation: 12 = 4 + 4 + 4.
Example 2:

Input: n = 13

Output: 2

Explanation: 13 = 4 + 9

Solution

DPHEiZ
O(n) time, O(n) space
MERARE, EREELAreduce/Riald, —MNEMIFERE: WFk(k < n), FEBEENBEASZD?

FOREEEE, EEHERE. REENEHEBERAN, XENSERRIEELA, WRNE:

e n=1, result={1}=1

e n=2, result={1,1}=2
e n=3, result={1,1,1}=3
e n=4, result={4}=1

e n=5, result={4,1}=2

XIFn, PEELEEFERZsquare number, BBARIEsquare numbera] LABH LA TENBIFZFRIAT :
DP(k) = min({DP[ixi|+ DPlk —ixi|,i=1,2,3,--- andi i <= k})



class Solution
{
public:
int numSquares(int n)
{
if (n < 1)
return 0;
vector<int> dp(n + 1, INT_MAX);
dp[e] = @;
for (int i = 1; i <= n; ++1i)
{
for (int j = 1; j * j <= 1i; ++3J)
{
dp[i] = min(dp[i], dp[i - J * j] + 1);
}
}

return dp[n];

b

EAREEAILSHE, (TEEPRENdpEEA, HhdpkfHERREERN, FLNIRSRESNN, &
LMREZRITTRAdp, XERLUEREHSRET:

class Solution

{
public:
int numSquares(int n)
{
if (n < 1)
return 0;
static vector<int> dp = {0};
while (dp.size() <= n)
{
int cur = INT_MAX;
int i = dp.size();
for (int j = 1; j * j <= i; ++3)
{
cur = min(cur, dp[i - j * j] + 1);
}
dp.emplace_back(cur);
}
return dp[n];
}
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o Ln=(4" a)*(8b+7)RT, LEERI4
« RRFMPERBITITE

class Solution

{
private:
int is_square(int n)
{
int sqrt_n = (int)(sqrt(n));
return (sqrt_n*sqrt_n == n);
}
public:
int numSquares(int n)
{
if(is_square(n))
{
return 1;
}
while ((n & 3) == 0)
{
n >= 2;
}
if ((n & 7) == 7)
{
return 4;
}
int sqrt_n = (int)(sqrt(n));
for(int i = 1; i <= sqrt_n; i++)
{
if (is_square(n - i*i))
{
return 2;
}
}
return 3;
}
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Corner Cases:
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